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QUESTION ONE: CIRCULAR FLOW DIAGRAM

Model One: Three-sector circular flow model

Sector 1 Consumption o Sector 2
Households | : Producers
lncome
A
Money Fiow A Sector 3 Money Flow B
- Financial

(@) Since 2012, the percentage of income that must be contributed to KiwiSaver schemes has
- increased from 2% to 3%. This would have increased BOTH Money Flows A and B,

Use Model One to fully explain how the increased contributions to KiwiSaver schemes may
affect economic growth.

In your answer:
«  identify and define Money Flows A and B

o explain how an increase in Money Flow A affects economic growth
. expiain how an increase in Money Flow B affects economic growth.
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Improved economic conditions are expected to cause the Government’s operating
balance to be in surplus in 2015-2016. It is forecast that this surplus will grow to $3.6
billion by 2018-2019,

Source (adapted): hitp://www.treasuty.govt.nz/budget/2015/fs1/05.htm

Options for the Government on how to use the surplus include.

= reducing income tax rates

. an increase in government spending on education, health, and infrastructure.

{b) Compare and"ébhtrast the impact'on economic growth of reducing income tax rates with an
increase in government spending on education, health, and infrastructure.
In your answer, fully explain:
® the impact of reducing income tax rates on economic growth
. the impact of increasing government spending on economic growth

o why the impact of reducing income tax rates may have a smaller impact on economic
growth than increased government spending.
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QUESTION TWO: PRODUCTION POSSIBILITY FRONTIER | assessors

New Zealand has several occupations and regions in which demand for workers is

higher than supply available, even though there is considerable unemployment of

suitable workers in the economy. There are two distinct solutions:

. the Government providing job search and relocation assistance to unemployed
workers in New Zealand,

o the Government providing incentives for foreign workers to immigrate to New
Zealand.

Graph One: Production possibility frontier =~ Graph de: Production possibility frontier
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Note: Point X shows the current combination of capital goods and consumer goods produced in
New Zealand.

(@ () On Graph One above, show the impact of providing job search and relocation
assistance to suitable unemployed workers in New Zealand.
(i)  On Graph Two above, show the impact of increasing immigration into the New Zealand

economy.

(b)  Use Graphs One and Two to compare and contrast the impact on economic growth of
providing job search and relocation assistance to suitable unemployed workers in New
Zealand with increasing immigration into the New Zealand economy.

In your answer, refer to the concepts of real GDP and productive capacity.
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QUESTION THREE: GOVERNMENT POLICIES AND THEIR IMPACT ON GROWTH

8

The Resource Management Act has several objectives, including:

Understanding that present resource use has an impact on the quality and quantity of
resources available for future generations,

Graph Three: AD/AS model of the New Zealand economy
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On Graph Three above, show the future impact on the AD/AS mode! of present-day
production permanently damaging or over-exploiting a natural resource.

Use Graph Three to fully explain the future impact on economic growth if the Resource
Management Act is not enforced and present-day production permanently damages or
over-exploits a natural resource.
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rThe 1949 Forestry Act bans the export of swamp kauti-logs unless they are made into
finished timber products. Exporters have been getting round this with illegally exported
logs being processed at their export destination, depriving this country of jobs and the
financial benefit of adding value. By [Government’s] rigorously enforcing the Act and
more closely observing the exporters, the swamp kauri could contribute far more to
Northland. This would mean the creation of jobs in a genuine value-added processing
industry, making bowls, vases, furniture, and other popular products.

Source (adapted): hitp://www.nzherald.co.nz/business/news/article.cfm?c_id=3&objectid=11483596

(b)

Compare and contrast the economic impact of enforcing the 1949 Forestry Act and its value-
added policy on extracted kauri logs in the Northland community.

[n your answer, fully explain:
s the costs and benefits for workers in Northland
® the costs and benefits for the Government.
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Excellence exemplar for 91224 2016 Total score 21

Q | Grade score

Annotation

Part A. Both flows are identified. Explanation of how savings decreases growth, using
consumption. Explanation of how investment increases growth, using examples of
capital goods impacting on production. Combining both explanations shows evidence
of a detailed Merit explanation.

Part B. Both income taxes and government spending are explained, using
consumption and productivity (transport), respectively. In the conclusion, an additional
impact linking producers indicates a detailed explanation for income tax.

Overall, a detailed explanation in Part A and a detailed explanation for income taxes
results in two Merit explanations.

Both graphs are correct and clearly labelled.

Both graphs are fully referenced in their detailed explanations. There is clear evidence
that the candidate understands the difference between real GDP and potential
capacity. There is clear evidence of the difference each option has on both economic
concepts. There is a minor error in the job search explanation.

Overall, both explanations are detailed and there is strong understanding of the
differences between each in terms of real GDP and productive capacity.

Part A. A full detailed explanation of why costs of production have increased, causing
a shift of AS curve. In addition to referencing to the graph, this is linked to an
explanation to why real GDP has decreased.

Part B. There is a detailed explanation of the direct benefits to workers in the industry,
and indirectly to workers in Northland in other industries, in terms of employment and
the benefits of increased income in the region. There is a detailed explanation of the
costs to workers in Northland involving cost of housing and congestion. There is a
detailed explanation of the benefits to the government in terms of GST and income tax
revenue. There is an explanation of a cost to the government in terms of ensuring the
law is followed/enforced and a statement this may affect spending in other areas.

Overall, there are three detailed explanations in Part B.






